4 PEAKTRONICS MK T-152

Actuator Controls Mounting Kit

ASSEMBLY DIAGRAM Bernard EZ4, EZ6, EZ10, EZ15, OA3, OA6, OA8, OAP, OA15, SQ4, SQ6, SQ10, SQ15 Actuators

NOTE:

TRANSMITTER Remove terminal strip and motor capacitor without

disconnecting any wires.

Remove and discard existing terminal bracket, and
TERMINAL mount Bracket "A" with existing screw.
BRACKET

Mount motor capacitor to Bracket "A" using Hex

Nut "H", and mount terminal strip to Bracket "A"

TERMINAL #1 as shown.
TERMINAL MOTOR
CAPACITOR
G® ~
INSULATING
SHEET

h 0

Q.
©Q
E

VE
STANDARD
CONTROLLER L6 E
o
1%, -
ACTUATOR CONTROLLER INSTALLATION

www.peaktr onics.com
PEAKTRONICS, Inc. 1363 Anderson  Clawson, MI 48017  Phone (248) 542-5640 FAX (248) 542-5643 800-153E pagel




MKT-152

ASSEMBLY DIAGRAM Bernard EZ4, EZ6, EZ10, EZ15, OA3, OA6, OA8, OAP, OA15, SQ4, SQ6, SQ10, SQ15 Actuators
REPLACEMENT p
POINTER
‘ D
@ NOTE: Remove and discard

= existing pointer.

D
= m m
NOTE: Remove existing screws

C and washer, and mount Bracket "B" POINTER
as shown.

ALY

TRANSMITTER =
9§\} NOTE: Gear "O" will not fit
| & onto potentiometer shaft.
f"I\I|||||||||||||||||\|\||llﬂ N
_—1 T
POT HEX NUT
/ /63 (== é/
= B =& ___ POT LOCKWASHER
I -
N 1] y & «
Remount ground lug J
to Bracket "B". g
M
L L
i M
POT WASHER
FEEDBACK
POTENTIOMETER

ACTUATOR POTENTIOMETER INSTALLATION

www.peaktr onics.com
PEAKTRONICS, Inc. 1363 Anderson  Clawson, MI 48017  Phone (248) 542-5640 FAX (248) 542-5643 800-153E  page 2



MKT-152

ITEM

OQUOoOZZIrXoe—IOmMMUOT>

not shown
not shown
not shown
not shown
not shown
not shown

QTY

OFRRFPRPRPNNRPRRPRRPARRPANRPNNRANRRR

KIT CONTENTS

=
- ,
L M
% =
D E F
DESCRIPTION

positioner bracket
potentiometer bracket

emm/Imm x 110mm socket head screw

5mm/0.8mm x 80mm

#6-32 x 0.375" pan head screw
#6-32 x 0.375" flat head screw
#6-32 x 0.187" pan head screw
8mm/1.25mm hex nut

5mm split ring lockwasher

#6 split ring lockwasher
potentiometer anti-slip washer
51mm steel spacer

35mm steel spacer
potentiometer gear

output shaft gear

replacement pointer

#6 nylon washer

11" white wire

11" black wire

11" red wire

11" blue wire

11" brown wire

6.3" nylon tiewrap

|||I|I|||I|IIIIII|||I|I|I|I|- ‘l “

www.peaktr onics.com

PEAKTRONICS, Inc.

1363 Anderson

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

800-153E

page 3



MKT-152

9 O,
w_ NOWNINOD AV13d
._w © 1n0 LNV
Q Hm 1N0O N3IJO XNV
(euondo) ainpoN Aepy/ieniwsiell 00T-¥10 | 2 ®
(feuondo) aNpo A Jeniwsuel] QOT-X10 1NO 3SO10 XNV
@ aNo© 1VYNOIS
© ndino wyw | VWM%%@%
........... @- ndino A I+ o
® NdIN0 AGT+ JAyPbo] pa1osuu0d
d313INOILNI1Od 3] Ued spunols) BJ0N
»ovaa3ad @ T T
20T-10d
a3d @ @ NOT/G-0 ‘NG-T ._ leubis
+| puewwod | —
JLIHM @ @ Ywoeg-v ._
m Movd @ @ aN9 TVNOIS
c
2 © ®© ©
Uodo pLE 350D J0 UONEI]IED m o MOvg o o AND H.1YV3 Q
Burnnp s A|Eea1RWOINE € 4 4
s1 Bunoe sl lo Bupde peild = ALIHM ANITTT ;
D
Qa @ a3d @ @ IVdLN3IN 271
© r a
VOOT-OHA OVAPEC
00T-OHA OVALTT
si0enPY GTOS ‘0TOS ‘90S YOS ‘STVO ‘dVO ‘8V0 '9VO ‘€VO ‘STZ3 ‘'0TZ3 ‘973 ‘vZ3 pleuleg ANVHOVIA ONIFIM

SHANOILISOd 1V1I191d OV

3
N
s
o
N
g
o
D
irg)
N
<
8] o
4
= o
o S
i
8

=N
= s
:E
s
m
3
O

page 4

1363 Anderson 800-153E

PEAKTRONICS, Inc.



MKT-152

ONILOV ISHIAN3IY

uolow Jorenioe

Yyuwioe

d313WOILN31O0d

Movaa33d
20T-10d
Movg
JLIHM
8 a3y
2@
S a3y
g
3 ® JLIHM
2
QD
a © Movd
S

(feuondo) “Jeniwsuel) a1im 0}
HILLINSNYYL | SB4IM C0T-10d SS90%8 &8
Movdaa3=ad
ONILOV 1D3dI1a NAOT/G-0 90T-VIANX
LM —  F YWO0Z-¥ SOT-VINX
uoljow Jorenide ®®®®®
Joliuow
J1LIHM +| ~oeqpsey [—
MOvg a3y
Ywoz
Oam
d313NOILNILOd inamo Ave+
MOovgaaad @ T
¢0T-10d » ®
a3 © AOT-0 1 eubs
/@ @ ._ +| puewwod [ g
JLIHM YWO0Z-¥ | AS-T
8 MOV1g ® ® anNo TVYNOIS
c
5]
S © SOV ® O e nma Q
)
3 ® ILIHM © © INT T ;
=)
QD
@ © a3y © © IVHLN3AN 27
© T o

HTOT-Od1 / d101-04d71/ D00T-ONV DOVAVEC
OT0T-04d71/ VIOT-O4d1/ VIOT-OWV DVALIT

sI0RNPY SIOS ‘0TS ‘90S ¥OS ‘STVO 'dVO ‘8VO ‘9V0 ‘€VO ‘G173 ‘0173 '973 ‘¥Z3 prukg
(prepuess) SYIANOILISOd I1VvH 9071/ D0TVYNV OV

NVHOVIA ONIFIM

3
N
s
o
N
g
o
D
irg)
N
q2
8] o
4
= o
o S
i
8

=N
= s
w%
s
8
k-
O

page 5

1363 Anderson 800-153E

PEAKTRONICS, Inc.



MKT-152

A_GCO_HQOV "eniwsuel] allim 0]
ONILOV ISHINTY ONILOV 10341d YILLINSNYYL | S84M 20T-10d Ss80xe 8sN
Moveaa3a
NOT/S-0 90T-VINX
¥31INOILNTLOd Y313NOILNILOd LM = F YWozZ-v SOT-VINX
SIOvVEd3aS SOVaa3a- 21%1%1%]%]
Movg a3 +| >toedpsey
ALIHM ILIAM a3
MoV d
a3 MoV
@ ] ndino Avz+
a0 aND TVNOIS e
- o
uonow Joenoe uonow Joyenide ® ©79v/50) NSO m
c
@ orovpa =0D speubs S
I_I |0.JJU02D
© (IH OV) Nado m
N3dO N3dO © (IHOV) 3SO10 - w
© NOWINOD N3O
8 8 @ NOWWOD 35010 -
c c
g 5 -
S © a3d S © MOovg ® ® aND H1dV3
g )
3 ®© ILIHM 3 ® ILIHM © © AN T
> =]
(SR D
@ © Movd @ © a3y O, © AVALNAN 21 -
© © Iy ar

page 6

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-153E

1363 Anderson

VEOT-INVY DVAPES
E0T-INV OVALIT

sI0RNPY SIOS ‘0TS ‘90S ¥OS ‘STVO 'dVO ‘8VO ‘9V0 ‘€VO ‘G173 ‘0173 '973 ‘¥Z3 prukg
Sd31104d1NOD 440/NO OV

NVHOVIA ONIFIM

PEAKTRONICS, Inc.



